
Prüfungsaufgaben Aufgabe 217 

 
 

 
 

 

 



1.2 

 
Für ein beliebiges Dreieck ABC gilt: 

 
       2 * BM * CM  

A = ---------------- 

                2   
 

                   BM 
tan (φ/2) = ----- | * CM 

                   CM   
 

BM * tan (φ/2) * CM 
 

Eingesetzt: 
 

A(φ) = CM * tan (φ/2) * CM = 5 * 5 * tan (φ/2) = 25 * tan (φ/2) cm² 

 

1.3 

 

A(50°) = 25 * tan (50°/2) cm² = 11,66 cm² 

 
25% größer --> Prozentfaktor 1,25 --> 11,66 cm² * 1,25 = 14,58 cm² 

 
14,58 = 25 * tan (φ/2) | :25 

 
tan (φ/2) = 0,5832 --> φ/2 = 30,25° --> φ = 60,5° 

 


